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mA v
1 0.03~0.5 233 z30 sl =2 800 12/28
2 0.03~1 233 230 <1 <2 800 12/28
3 0.5~3.0 233 230 £+1.5 €2 800 12/28
4 1.0~2.0 233 230 skl =2 800 12/28
5 2.074.0 233 230 sl s 1000 12/28
6 2.076.0 233 230 <t2 <2 1300 12/28
7 4.0~8.0 233 z30 =+2 =2 1000 12/28
8 2.0~8.0 233 230 s+2.5 2 1000 12/28
9 6.0~10 233 =30 <+1.5 <2 1000 12/28
10 812 233 235 <t1.5 <2 1000 12/28




11 12~18 233 =30 =42 =2 1000 12/28
12 6~18 233 230 £25 <2 1200 12/28
13 2~18 233 230 s+2.5 <2 1500 28
14 18.5~24 =31 =30 <#1 <2 1200 8
15 22-27 z31 z30 <tl <2 900 8
16 18.5726.5 230 230 <£25 <2 800 8
17 26~30 231 =30 £+15 <2 800 8
18 30~33 231 =30 £+1.5 €2 800 8
19 32~37 =31 =30 <+1.5 <2 800 8
20 26.5™40 229 z30 <t3 <2 800 8
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i ﬂﬁiﬂﬁ MALE Ifiﬁaiii IfE:E.E
1 0.0370.5 =43 =40 =*1.5 =2 2 28
2 0.0371 =43 =40 =2 =2 2.3 28
3 0.573.0 =43 =40 =*1.5 <2 2.3 28
4 1.072.0 =43 =40 =x1.2 =2 2.3 28
5 2.074.0 =43 =40 s*1.2 =2 2.5 28
6 2.076.0 =43 =40 =+2 =2 2.5 28
7 4.078.0 =40 =40 =x2.5 =2 2.5 28
8 2.078.0 =40 =40 %25 =2 2.5 28
9 6.0710 =40 =40 <*1.5 =2 3 28
10 8712 =40 =40 <*1.5 =2 3 28




11 12716 =40 =40 =+2 <=2 4 28
12 6718 =40 =35 =*25 =2 4 28
13 2718 =40 =35 =325 =2 5 28
14 18.5722.5 =37 =35 =+1.5 =2 4 12
15 22-27 =37 =35 =+1.5 =2 4 12
16 18.5726.5 =37 =35 =+2.5 =2 4 7/12
17 26730 =37 =35 =+1.5 =2 4 7/12
18 30733 =37 =35 =*1.5 =2 5 7/12
19 2 a7 =37 =35 =+1.5 =2 5 7/12
20 26,5740 =35 =35 ==+3 =2 5 7/12

L 3L tafnigl I TIEE WA T T

GHz dBm dB A v
1 0.0370.5 =53 =47 =+15 =2 15 28
2 0.03"1 =53 =47 =2 =2 13 28
3 0.573.0 =50 =47 =+15 =2 13 28
4 1.072.0 =53 =47 =+1.2 =2 12 28
5 2.074.0 =52 =47 =+1.2 =2 13 28
& 2.076.0 =50 =47 =+2 =2 15 28
7 4.078.0 =48 =47 =+32.5 =2 15 28
8 2.078.0 =45 =47 =+2.5 =2 13 28
9 6.0710 =50 =47 =+1.5 =2 14 28
10 8712 =50 =47 =+1.5 =2 14 28




1 12716 =50 =47 =*32 =2 15 28
12 6718 =50 =45 =+25 =2 18 28
13 18.5724 =45 =45 =x1.5 =2 22 12
14 22-27 =45 =45 =x1.5 =2 22 12
15 18.5726.5 =45 =43 =*2.5 =2 12 7/12
16 26730 =45 =45 ==*1.5 =2 14 7/12
17 30733 =45 =43 =x1.5 =2 14 12
18 26.5740 =45 =43 =*3 =12 15 712
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